02}2( ?okoaza,wn MO /rtX.s stoun
Mafrf;zevwcx dm’c /be/szevzvxﬁ
ze m?l,eolu. Mma wdalqoi—avz_—-
mowae ¢ Spmwcom w9
lm&;ojcez Tresks (T™) ¢
Hulerol ,

By =-A40 Q?&: 160 | Tyy=80 | Re=280 [MPa]

HlfOtEJZQ, Tres ke
W blon : "QJ—Dé:- AQ = L, 2=
p c/z»(yzvuf 4z i 5= 7 -—Z-_QO A= \l(_a + L2 =

:’Z
:\W—"i&@) 4 602" = 0O

G,=Gy==MO0 | 0, = 5+ = 80+400= A8O Y; £0-400 =-20

<\LDM (/{80 (“/“10»: A0 ~ gﬂzz.bwz 2390 Mbu
gM}&v > Re ~ LSZ l/\;\oolr(lzé Taenle w&&%@m&%&
H/CSO'R/Z{X Hubera

QM”\F[G’X “+ G, 62‘]-%5 an =

=\/'I[(~AHO-ACO) ¥ [-Av0) +4602]+?>-60‘°- = 2,80 Mpa

H
G},\u[ -“'*"Ee ety ug ‘A,\(Jo-k/zj H»me (Pouz.o.lk}&> u,rf,our

J(nuz Wy O



